® 8.2 @ 9 ® 9.3

@ 8

0+7=7

I~
I
Q
=
I
<<

A+ B




o]
e

(=7)+(=4)+(+5)+(+2)
{(=D)+ (=D} +(+5)+(+2)

-1+ © |
= @ ]

(+5)+(—=4)+(-7)+(+2)

—

_X_l

ol
el

—

_X_l
s
o
E




e F WAL G0 R Bk Bao] 4] o

+
&
|
iR
»
I
T
&
+
T
»







ol
™
o|J
ol
Ko

oln

= |2
l_l
Il
— | /N
+ o
Il +

X+
o
o @

4
3
4
7
® (-2.5) x8x <+%> =1




O § 5a ot 22 A2?

©a+a+a+a+a @ axaxaxaxa
® ad @ 5+a
® 54a

B

@Qa+a+a+a+a=5a

@axaxaxaxa=a°

@5+a:§
a




H7
et (=) + (+3)=(3)
p-7-(+3) =12

_10+10+10 5

1 43 5 129 124
S = —— — = oc— == = ==
A a+b R TR AT T2







8
S
Ir
S
fot
N
.
M
s
rr
-z
}3}1
i
il
|d
fu

S e
r




)—(-10) J(l)

(2)
(3)

o s

)—(=10)

(~20) X (3)+(=20) x (-£

1 1

2 5
(-10)+(+4)—(—10) —
(+4)+(-10)+(+10)

AAt B A o] g ML A 2 W5HA?
(+4)+0

(=20) x(

[

j=1

10. o+

xRN

G

NI NI G G-
= T = 1 1 O
I~~~ S~
GG OB O O
= O T P o
o I T I 1= I U
o~ S~ S~ S~
G T
BE W m W
W o oW o




11.

oS = Bxo Ao g el Zlog &3] ¢re 7]

2A9.

flo
R

@ xkg ¥ 3% = 1—30x(kg) ojct,
© @ 7ol 0 991 A 5 7] 7422 5a o]tk
© x93 ujjollA] y o] 2 HijE HlTH 3x — 2y o]t}

@ g O] ZAo7} xem Q1 AAFH 0] B0 Lol

4xcm ©]tt.
® xkm ©] AZE 247t Bt FE AFApe] £ A&
 m o]et.
> =
> e 9
@ x x

= — = x(k
Too — 10070 <8)




12, utI9] WA o] 40em , HUH €] ¥EA o] 50em
Quti7} x W B)A W), S Aok S5E x
Cebf o]t

|r

> E

> ®™ED —xdH

Ot >

ol ZFA A 9]
x & A-85to]

B

40x x = 50 x y o]k,
4

y:gx




13.

® 3+x @xx?) @x—l—x—i—x

@ xxxxx ® 3xx2

~&B

@ xx3=3x
@x+x+x=xx3=23x
@ xxxxx=x3

® 3 x x? = 3x?




i}
~
™ |
-~ S
ol I —
™ o —=
o|J H (._v\
o8 | I
= SN
f : ~
% T O+
O N— S~—
o
By n ™
e 77
ol
© @

14. o

0

‘ ® (+3.2) + (+4.1) + (-7.3)




15. A=5-(-2)x(-4)-8 ¥ W, AxB=10°] 5= B 2] gr& F35}H?

1 1 1 1
D- @-5 0O- @- 06—




bz

Fof Ltetoler.

AHES

=
=

A=
T=X

3|
=

g

R

o

i
1=}

|

]
T

B

a o)zt

S 52

A Hto]

6ax — (x + 20)a

6a —a




O {F O] Zol7t gem Q1 AAMR ] &89 o] - 4acm

@ a9910% - goadl

@)mel Ae1e) 2747} x, Aol Aele] 227k y , Do) A2 o]
Z27F 2 ) Al Al o] A - xyz

@ T 7ol o Yok 21974 x A4S AR, 1000 2 WS T
ALEE — 1000-ax Y

® &84 L &5 WA ol tiro] & 1, & Aol W

Fasd g - 1L

B

® "o} 242 o] =217 x ©]H 100 x x = 100x ©] 2L,

Aol Ao =A17Fy o] 10 x y = 10y , L& A2 8] 52217t ¢
olmg

Al ZHe] o] 4= 100 X x + 10 Xy + 1 X z = 100x + 10y + 2
oJtt.




